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L fx)=x*+x a=1,b=3
“nmh=b—-a=3-1=2
& fla+rh) = f(1 +1h)



() (i)

(ii)

= (1+rh)*+ (1 +rh)
=2+ 3rh + r2h?
b .
s J, fO)dx = lim h 7, f(a +rh)
= limh¥2_1(2+ 3rh + r2h?)
= lim h[2n +3h(1 + 2+ - +n) + R2(1% +
2% + -+ n?)]
— hm h zn + 3h n(n'l'l) . e’ hz n(n+1)(2n+1)]
2 6

3nh(nh+h) nh(nh+h)(2nh+h)

= lim [Znh 5 .

+

6-(2+0)

=[a+%£2

+ 2 (2+0)(4+0)]

=4+6+'§

R Y XII- 49 {81 763-49 OHIRAY 20
TIICT |

41 TP, ANOeId NP NS g, b,
SNSAG (0,1, 0) MR

a(x—=0)+b(y—-1D)+c(z—-0)=0
dl,ax+b(y—1)+cz=0 (1)




B = =% = =" n
AT (1), (3,4,1) [FowR,

“ 3a+3b+c=0 wrs (Z)
(1) ﬂﬁhﬁﬁ%xf:yf:z;z Br
ANS ]I |

v 2a+7b+5¢c=0 ++(3)
(2) 8 (3) (YTH AISAT TV,

. a b c
" 15—7 7 2-15 21-6

a b C
aT'a_-13_15

s TSR TP,
8x—13(y—1)+4+15z=0
ql, 8x—13y+15z+13 =0




